AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

| FEDER | le box) RAL CANDIDA | ГЕ | ☑ STAT | E/LOCAL CA | NDIDATE |
|-----------------------|---|--|------------------------------|----------------------------------|--------------------------|
| To Av. Windo | ail Themselves w, Federal Can | of The Lov didates Mu | vest Unit Cha st Sign The | arge During a Certification (| Political On Page 3 |
| | d Location: Oregon. KRCO-FM | , Bend Oregon. | | Date : 4/26/2- | |
| I, Maddie Veir | ns | The state of the s | | | , |
| qualified candic | Tof: Judy Trego date of the nonpartifice of: Deschutes of the primary election | County Commis | | | , a legally political |
| | est station time as for | llows: | | | |
| Broadcast Length | Time of Day, Rotation or Package | Days | Class | Times per Week | Number of Weeks |
| See attached schedule | | | | | |
| Total Charg | ges: MP2. | a) | | | |

| For programming that, in whole or in part, "communicates a message relating to any political matter of national importance," list the matters below: |
|---|
| |
| |
| |
| |
| |
| I represent that the payment for the above described broadcast time has been furnished by: Friends of Judy Trego |
| and you are authorized to announce the time as paid for by such person or entity. I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate. |
| The name of the treasurer of the candidate's authorized committee is: |
| Maddie Veins |
| This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates). |
| THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING. |
| |
| To Be Signed By Candidate or Authorized Committee 4204 Date Signature |
| To Be Signed By Station Representative |
| Accepted |
| Signature Ovegory L. LANSEN LSM Printed Name Title |

Horizon Broadcasting Group 854 NE 4TH Street Bend, OR 97701-4711

Order #:

422-00002 (PN 20240429.1)

Description:

Salesperson:

Deschutes County Commissioner

Date Entered:

4/29/2024

P.O.#:

JONES, BILLY

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date

JUDY TREGO P.O.BOX 95 BEND, OR 97709

Pending New Order

| On-Air Sch | eau | le |
|------------|-----|----|
|------------|-----|----|

| Start Date | End Date | Station | Scheduled | Time Event | Repeated | Length | <u>Oty</u> | Rate | Total | M | Tu | W | Th | F | Sa | <u>Su</u> |
|-------------|----------|---------|-----------|-------------|----------|--------|------------|-------|--------|---|----|---|----|---|----|-----------|
| 1 4/30/2024 | 5/6/2024 | KWPK-FM | 05:00:00 | to 19:00:00 | CUSTOM | :30 | 20 | 18.00 | 360.00 | Y | Y | Y | Y | Y | N | N |
| 4/30/2024 | 5/5/2 | 2024 | | | | | 16 | 18.00 | 288.00 | 0 | 4 | 4 | 4 | 4 | 0 | 0 |
| 5/6/2024 | 5/6/2 | 2024 | | | | | 4 | 18.00 | 72.00 | 4 | 0 | 0 | 0 | 0 | 0 | 0 |
| 2 4/30/2024 | 5/6/2024 | KWPK-FM | 05:00:00 | to 19:00:00 | CUSTOM | :30 | 8 | 13.00 | 104.00 | N | N | N | N | N | Y | Υ |
| 4/30/2024 | 5/5/2 | 2024 | | | | | 8 | 13.00 | 104.00 | 0 | 0 | 0 | 0 | 0 | 4 | 4 |

Station Totals:

Station KWPK-FM

Spot Count 28

Net Billing \$464.00

Order Start Date: 4/30/2024

Order End Date: 5/6/2024

Spots: 28

Total Charges:

\$464.00

| Projected Calendar Month/End-Of-Schedule Billing | Totals for JUDY TREGO / 422-00002 : |
|--|-------------------------------------|
| | |

| Total: | | 28 | \$464.00 | |
|--------|------|------------|-------------|--|
| May | 2024 | 24 | \$392.00 | |
| April | 2024 | 4 | \$72.00 | |
| | | Spot Count | Net Billing | |

Confirmed & Accepted for Horizon Broadcasting Group By:

Please Sign and Return One Copy

Accepted for JUDY TREGO By

Horizon Broadcasting Group 854 NE 4TH Street Bend, OR 97701-4711

Order #:

422-00003 (PN 20240429.1)

Description:

Deschutes County Commissioner

Date Entered:

4/29/2024

P.O.#: Salesperson:

JONES, BILLY

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date

JUDY TREGO P.O.BOX 95 BEND, OR 97709

Pending New Order

| ^- | A | ir S | | | | |
|-----|---|------|----|----|---|---|
| UII | | ır o | CH | eu | u | æ |

| Start Date | End Date | Station | Scheduled | Time Event | Repeated | Length | <u>Qtv</u> | Rate | Total | $\underline{\mathbf{M}}$ | Tu | W | <u>Th</u> | F | <u>Sa</u> | Su |
|-------------|----------|---------|-----------|-------------|----------|--------|------------|-------|--------|--------------------------|----|---|-----------|---|-----------|----|
| 1 4/30/2024 | 5/6/2024 | KRCO-FM | 05:00:00 | to 19:00:00 | CUSTOM | :30 | 20 | 16.00 | 320.00 | Y | Y | Y | Y | Y | N | N |
| 4/30/2024 | 5/5/2 | 2024 | | | | | 16 | 16 00 | 256 00 | 0 | 4 | 4 | 4 | 4 | 0 | 0 |
| 5/6/2024 | 5/6/2 | 2024 | | | | | 4 | 16.00 | 64.00 | 4 | 0 | 0 | 0 | 0 | 0 | 0 |
| 2 4/30/2024 | 5/6/2024 | KRCO-FM | 05:00:00 | to 19:00:00 | CUSTOM | :30 | 8 | 11,00 | 88.00 | N | N | N | N | N | Y | Υ |
| 4/30/2024 | 5/5/2 | 2024 | | | | | 8 | 11 00 | 88 00 | 0 | 0 | 0 | 0 | 0 | 4 | 4 |

Station Totals:

Station

KRCO-FM

Spot Count Net Billing

Order Start Date: 4/30/2024

\$408.00

Order End Date: 5/6/2024

Spots: 28

Total Charges:

\$408.00

| Businested Colorador Manual Ford Of Colorad to Billion | T |
|--|-------------------------------------|
| Projected Calendar Month/End-Of-Schedule Billing | Totals for JUDY TREGO / 422-00003 : |

| Total: | | 28 | \$408.00 | |
|--------|------|------------|-------------|--|
| May | 2024 | 24 | \$344.00 | |
| April | 2024 | 4 | \$64.00 | |
| | | Spot Count | Net Billing | |

Confirmed & Accepted for Horizon Broadcasting Group By:

Please Sign and Return One Copy

Accepted for JUDY TREGO By:

Printed: 4/29/2024 At 9:17:45AM

Page 1 of 1